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L n mwn: minn on the »m»an nam (as per v. 1)
a.  Starts from: NE corner, moving counter-clockwise until SE (corner from where the nxvon begins outside)
i. y”r starts from SE corner, moving clockwise until NE corner (inversion of p”n [=3"n"]
b.  #”r he wouldn’t walk around, but give the other 3 down-up, the one in front of him up-down
c.  Then: 7 mx1n on the 9mw of the inner altar
i. p»pw. spilt on W side 1o’ outside (“outer” nnaap are spilt on S side)
1. Then: they mix in the nnR and are sold for fertilizer etc. — n%’yn applies
II.  nm A re: position of 3"n2
a. 57 stands between narn and no11a (as per v. 1 — 8¥n...has to move out to the nar)
b.  For other nrn29 mavn. stands outside of nam (as per v. 2 — the narm is 'n »4aY, not the jn3)
II. Analyzing the dispute between 3"n" (NE - counter clockwise - SE) and " (SE > clockwise >NE)
a.  Both agree: that he moves back to the east to start — as per v. 1 xxn
b.  Possible source of dispute: whether to accept »"27’s read of v. 3 = all turns should be to right OR
c.  All accept: H9Rptn» 92 'm7 (context — outside); dispute — whether to apply outside = inside.
i. Ifso: y™ should allow either direction, rather...
d. All agree: that he should get to 1%t corner (which he had to bypass as per [a]) ASAP;
i. 2777 accepts 'ov "7 (only 1no1a, open on south; SW was 15t corner - start at SE and next SW)
ii. 77 per 13271 (2 maa-> exit p"nTp from N; NW was 1t corner - start at NE and next NW) OR
All agree: that circling is done to the right; ¥ maintains (like 8"1) that he doesn’t walk, OR
f.  All agree: that he doesn’t walk; dispute as to whether we infer stationary minn from walking minn
i. Challenge: »n (=our p"n) clearly requires walking, RATHER
g. (as[e]): OR ¥ equates the mmnarn; y™ holds that the entire 'n7570 nam is on one corner of the outer nam
i. Note: last answer substantitated by tradition of 2 3”3 from pwrIN N2
IV. Dispute regarding &™’s approach
a.  Our mwn. follows nn *; R " has him give other 3 1}, and the one opposite him U1 (too far)
V. Meaning of 9mv: X»W 11 92 127 — it means ‘middle’ (i.e. hallway up)
a.  Challenge: no nxtn atop the coals, rather move them aside (2 9mv is atop narn)
b.  Rather: following v.4 — center (top) of namn
c.  All agree: that nrtn is done on side of namn where he concluded the minn (N or S) following v. 5
i. Therefore: oy "7: put on S side
VI. Remains of the o7
a. 571 goon W side mo’ — since that’s the 1+ side of 1o’ that he encounters
b. Outer oT. goes on S side T’ - since that’s the 1% side of 110> that he encounters (when alighting from w2a3)
c.  Sxypw’ 7. both are W (only explicit one is 9”ny — infer ambiguous from explicit)
d. »7w7 both are S (nam was N of door = 1t side encountered is S)
VIIL. o7a n%yn (last clause in the mwn)
a. ™ p”1. there is nY'vN; DMIN — no NYYnN
b.  Entire dispute: is 1312771 — all agree that n”nn no n%yn — due to 1 of 3 words in v. 7
i. (Exclude: 07 from nRmv ,n%vn ;AN —no need to exclude from 9a b/c b7 is itself a 1nn)
c.  1mnand 7073 »712 (after 37777): 2 exceptions which prove the rule (...P21m3 1V)
i. Challenge: X011 " disagrees and allows use of N1 "2
1. Rather: noviy n%y and 7"MIn are 02N 1w
2. Even to: opinion that we can infer from 213 2, 2 delimiters 1wy (17”M7N) and navvn
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